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THY U ‘Sl DG qgWd | 8. TH W hiA U IS § 2
T (A) <9+ (B) @1m™
(A) 98T (B) masd (C) =w (D) e
(C) 9= (D) ST
N ;. 9. ‘g3’ ORI IR H WS R ¢
(A) TEUATEE &)
(B) fre=ar= (8] TwaT I
(C) e (C) HeAETas foRmu
(D) AfTe=FaT=H (D) gftATUrEE oo
f5ra o =0T ) FEd ® 10. =75 94 ‘25 THE' 1 3SR RIA-91 8 ?
(A) ferdrom (B) weH (A) frds  (B) = Htew
G} mr= (D) =R (©) freem (D) w=d A
"Age’ H WIEaTaS |l e ; s :
LR TR T
(A) W (B) W
C D
g (C) =R (D) TR
(A) St T @1 T 12. frefefed # Shfem e #-a1 3 2
(B) TEIEE (A) s (B) &M
(C) THHH I BT
(D) e @ T anEr (D) sl
TS o =l § | 13. ‘g’ SUETEl e H YT ISR
T Gl o 7 sr i
A B
ST UferrEl H -9 STARR  ? A B) 7
(A) BT (B) AT A
©) T (i ! 14. Trfafed § 9 ST <99 I © ¢
‘aﬂa’.w%? (A) o (B) safad
(A) Ha (B) wa"H™ i
(C) feommom (D) fora (&) gw (D)
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15. SyaTee G el ¢ 22. vmEReR 4 & wmw e feRa
(C) e (D) &) 5 (B 7
<€ 9 (D) T 9§ &E o &l
16. ‘foa’ A yem € " . NP S
_ 23. BTG 91 T 9 fohgeh ariq vl
(A) T (B) fom 37
€) 3w (D) =3 (A) i &
17, A0 F T 2 By
s (C) werel f&st
) =g () I (D) =@ @ 4
(C) dcqed (D) §%
24, ‘98 9 U & 9 H ‘T8’ IS
18. TH ¥ WEa=SE TA1E 7% 2
(A) HEel (B) eI (A) & (B) fshem
(C) =& (D) = (C) fovmor (D) =9H 9 &hrg off &
19, sefoam & 999 © 25. ‘AT’ W I T o g e— w41 5
I1e5 1 O 31 1 T € ?
&) PN ®) w (A) RU (B) 7@l
(C) 58 (D) f@'ﬂ, (C) El‘)[ET (D) %T?JI':T
20. ‘et el H - T 2 26. &< # wgea SHae SR & g I
(A) &% 999 I T HgT STl © 2
(B) THIIYE WHN (A) d&"  (B) dg9d
(C) FHY THE (C) <ot (D) 7 | i Tl
(D) dcqed qHH 27. ‘&' H Rl fIem wss = g ?
’ . & (A) R (B) <=
21. “H " BTG : .
%‘WWE"@%‘" R BRI © W (D) W
(A) T seif (B) ¥ g1 wel 28. ﬁﬁﬁﬁﬁﬁﬁﬁaﬁ?—ww'ﬂ@%7
©€) Hwwmd (D) & wm (A) FsE (B) PRt
(C) f=fla (D) fafsa
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29. fFefafea # @ fFaaiws=mo'ae’ | 34, ‘Td w1’ gerek & wet ot g ?
SEME? (A) WEREA  (B) HEA M
(A) X (B) =
© 1 D) (C) fadm (D) wrwf=@ g

30. ‘TSEeRt god | Sl o1 W' areEiw % | 35, Feen wieHd 2 R aE e
foTT yget B4 STl Tk 91sg 1 B 2 g7
(A) 3T (B) wEHA (A) faurar=s (B) T=omMEE
(C) HeFam (D) HeIRH (C) ¥Fm@EmE® (D) Hehdarash

31, Q' faufm A wEAM fFA A FRR A B | 36, ‘fidt wifess o1 sfer’ fogs 9t yom
e? <R P 42
(A) H SR F (A) = TS Y
(B) LT R 3R (B) foafde IR
(C) STURH 3R AR (©) it frrd
(D) STUEH 3TR HFHEH (D) T < v

32. ‘o’ WS W WEl GiE-fasE | 37, “‘sud O 9@ wmr” 99 ¥ FE-w
& ? T E?

(A) S+ (A) g
(B) 3 + 319 (B) Fear=:
(L) B AR (C) =T
(D) R (D) = 4 F 0
33. 'RFETR’ VR F W WAG-THE P | 38, frefared § § FH-91 9 G § 2
BT ?
A) =T
(A) TR iR Feg ¥
(B) T & ForE (B)
(C) & % fole Faag (C) =™
(D) e H e’ O =
CIM -2 Set-A
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39. - feu U =R fowedi 9 39 TH 39. Select one option out of the four
forereq =l Q1 X 2ree 9 Stk 3T options given below which is related
e g1 gl & 518 e Teel v | g8 to the third word in the same way as
W S EAE the second word is related to the first

Y : TEAeH :: 30 @ ? word :
(A) fER Bhutan : Ngultrum : : Iran : ?
B) R (A) Dinar
B) Rial
(C) @ (B) Ria
(C) Shekel
(D) =
(D) Euro

40. fodt e @™ e 9 § ‘FEATURE’ 40. Inacertaincodelanguage, ‘FEATURE’
®1 ‘UVZGFIV’ faen S €1 54 &e is written as ‘UVZGFIV’. How will
| H ‘CHARACTER® &1 1 fera ‘CHARACTER’ be coded as in that
S ?

language?
(A) XSZJZYGV)J (A) XSZJZYGV]
(B) XSZIZXGVI (B) XSZIZXGVI
(C) DSZJZYGXIJ (C) DSZIZYGXIJ
(D) XSZJZXHY] (D) XSZJZXHY]

41. = fu T IR fashedi § § 3@ UH | 41. Select one option out of the four
faehed @l gHT ST TEd & 9 3t options given below which is related
I TWE ST g7 ¢ o9 T ueell den to the third number in the same way
Y TN IS e ° as the second number is related to the

7:336 - 11 -9 first number :
. . * f?
(A) 1210 T2336:311 ¢ 3
(A) 1210
(B) 990 |
(B) 990
(C) 1320 ©) 1320
(D) 1122 (D) 1122
CIM - 2 [6] Set-A
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42, e Tod1 1 W ® | SEIfd HeH S e T |
vordT fed & fiar 1 gt 7 | from gy
I T |G W H A Y| AW Ao
I THAT de 1 °fd T | Afed =1 Gumw
W Gy T ?
(A) o
(B) U=

€ T
(D) TmIE

WY H. 43 Ud 44 o fow fder
T T A HT SIS ST BT T T
T. 43 TS 44 % I T

A,B,C,D,E.F,G HER A a5 T, BH
2R [@HT 14, BH | fohH. 3T H 8 R H,
AR 2 fe a1 G, HE 1 T, afy=m
HE S D, GR3fFH @ HTARF, GH
2 fET. SWARI L, BARCHF A Y € Tafeh
E, HFRDFAAHT|

43, ESiR/F AR A RT?

(A) 3fwd.  (B) 2f&H

(C) 5frd. (D) =0 A +E T
44, ESRFHFIA R U FAT?

(A) 1f&d. (B) 243 f&.
(C) 242 fhH. (D) 1 @ = &l

42. Ravi is the brother of Sweta. Jyoti
is the sister of Neelam. Sweta is the
daughter of Rohit’s father. Neelam is
the daughter of Subhash. Jyoti 1s the
mother of Ravi. Mahesh is Neelam’s
only sister’s husband. How is Rohit
related to Subhash?

(A) Brother
(B) Grandson
(C) Son

(D) Son-in-law

Direction for Question Nos. 43 and 44
Study the information given below carefully
and answer Question Nos. 43 and 44 :

A, B, C,D,E F, G, Hand [ are nine
points. C is 2 km east of B. 4 1s 1 km north
of B and H i1s 2 km south of 4. G is 1 km
west of H while D is 3 km east of G and F'is

2 km north of G. I is situated in middle of B
and C while £ is in middle of H and D.

43. What is the distance between £ and / ?
(A) 3 km (B) 2km

(C) 5km (D) None of these

44. What is the distance between FE and F?
(A) 1km (B) 23 km
(C) 242 km (D) None of these

CIM -2

Set-A
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W9 ¥, 45 UG 46 o ferw fdor Direction for Question Nos. 45 and 46

el e T Frewd ) = Read the given statements and conclusions
. . carefully. Assuming that the information
IE HF AT Toh FHeMl | & T SR W6l §

e 78 T A2 | S Hefd TN & 1 7 7 appears to be at variance with commonly
HITSTT, o e 7T Feshul & | i difeheh &9 4 known facts, decide which of the given

given in the statements is true, even if it

FHAl & TTAR T conclusions logically follow from the
statements :
45. HIT: 45. Statements :
(i) | JIEPR USH B © (i)  All prizes are medals
(i) H® YRR JH-T 2id & (ii) Some prizes are certificates
freenet Conclusions :
[ P YH0-93 TR B g I.  Some certificates are prizes
II. 9 TS TR 8l & II. Some medals are prizes

[II. FD FHO-U T 8 & III. Some certificates are medals

(A) |t fre=dl 1, 11 AT 111 w2 & (A) All conclusions I, II and III
AR § follow

(B) Ttk fsart [ 37K 11 %2 & STER | _
5 (B) Only conclusions I and II follow

(C) Tah frehsl 1 TR 111 el o STER (C) Only conclusions I and ITI follow
g

(D) fads Brewd 11 @R 11 T ¥ (D) Only conclusions II and III
EW% follow

CIM -2 [8] Set-A
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46. HIA :
() WftFUWMEAE
(i) TS Tedt IR 7 S
frend
. o8 g giefl 781 2
[I. % IR FaO1 &l gral
[l 9 el F1 e &

(A) ot fewd 11 oMl & STER ¥

(B) fa& fa=rd I &k III weAl &
AR &

(C) fath femd [ Feomi & STHUR §

(D) fa frewd II &R III FuH &
TR &

47. afc fHd @@ e 9™ § ‘ARMY’ &l
59065125’ forman s €, @ ‘NAVY’ &
fom 39w H == foran s ?

(A) 705110130
(B) 906220125
(C) 705110125

(D) 701550130

46. Statements :

47.

(1)  All dogs are lions

(if) No elephant is a lion

Conclusions :
[.  No dogis an elephant
II. No lionis a dog

III. Some elephants are dogs

(A) Only conclusion II follows

(B) Only conclusions I and III follow

(C) Only conclusion I follows

(D) Only conclusions II and III

follow

If in a certain code, ‘ARMY’ is written
as ‘59065125°, how will ‘NAVY’ be

written in that language?
(A) 705110130
(B) 906220125
(C) 705110125

(D) 701550130

CIM -2

[9]
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U9 |, 48-52 o feg g9

[H Qoo Th o SR TH W ETUR |

el $TR et 99 & Wi 9R 99 § | @
SR & T o o Q) 99 © | A I AT
3R &Y 9l o W9 W g € | AR SR e
I % o< < T W g S | A e e

et iR el Sl % S @ gl 1 el

ST AR ST o ek SUR 1 J1d 81 T
T 1 gihe 3R Uil ol o ote S 99 € | Tihe
THT A T h SR T g €, ik 98
I8 TR T € |

48. e T A1 o= Ford A € 2
(A) et
(B) rem
(C) =

(D) TH W HE Tl

Direction for Question Nos. 48-52

There are 8 boxes of different colours, viz.
Green, Blue, Pink, Black, Orange, Yellow,
White and Red, which are kept one above
other.

There are four boxes between Pink and Red
box. There are two boxes between Red and
Green box. Three boxes are kept between
Orange and Green box. Two boxes are kept
between Orange and Blue box. Only one
box is kept between Blue and Black box.
The Black box is not kept immediately
above or below the Orange box. There are
two boxes between White and Yellow box.
The White box is kept above Red box, but
not on the top.

48. Which coloured box is kept at the
bottom?

(A) Pink

(B) Yellow

(C) Red

(D) None of these

49, TSl S %k URULT H G 999 &1 | 49. What is the position of Black box with
feafa s 8 2 respect to Pink box?
(A) @& (A) Two places below
(B) i T (B) Immediately above
(C) I = (C) Immediately below
(D) TTH | &I 7&l (D) None of these
CIiM - 2 [10] Set-A
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50. Uil 3R ATEN gl & g fhdd oo 50. How many boxes are kept between
g2 Yellow and Orange box?
(A) 3 (A) 3
(B) 2 (B) 2
(C) 4 © 4
(D) = A FE (D) None of these
51. 99 SR fHg T 1 s/ & ? 51. Which box is kept at the top?
(A) et (A) Pink
(B) <t (B) Red
(C) At (C) Orange
(D) drem (D) Yellow
52. fmAfafea § 9 f&9 T &1 9991 @ 52. Which of the following boxes is kept
TR % b TR T ? immediately above Red box?
(A) A (A) Orange
(B) qthe (B) White
(C) el (C) Black
. ; (D) None of these
(D) ¥ 9 HE T
53, 9 fashedi § 9 Teh 39 019 9 AT | 53. Out of the four alternatives, one is
39 37 faehed ol J1d HifST different from the other three. Find
(A) e that odd one out :
(A) Elephant
(B) =d
(B) Whale
(€)= (C) Hawk
(D) =Fmeg (D) Bat
CIM -2 [11] Set-A
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4.

feu U wem o FAfafeg amone ™
femr =ifsu ir fre=m =ifsT & =0-
It yron e H siafifed § &R qeTar
AT I AT

HYA : AN iR A faofg fomn ®
foh W8T H TEieR0 YUl o T I FH
# o fTT v @t " % eieR fua
gt FREME H TR WHERRG fHA
ST |

=

£TUTIY :
[ 3 FR@HE H T & el
TIFARG H & oE ufasy # e

H YU 1 TR FY B Fehdl ©
1. 3 #rEm & fau s@Em a9
T 4 IR F AR 3T 7
T HREMHI § 9 $TF hl ACTR
T T o T $9 o= B I_d |
TG T ST ek ©
ot 11 siafifed &
e 11 iR 111 sfafifed §
e [ &R 11 sfafaféa &

T | 8 T

1.

(A)
(B)

(©)
(D)

g4t AR ¥ @ T dS 71 Hl 27 Th-
TE SIS ¥4 § &1l T | fad g R g9

33,

Consider the given statement and the

following assumptions. Decide, which

of the assumptions is implicit in the
statement and choose your answer
accordingly :

Statement : The civic authority has

decided that all the factories located

inside the city limit be shifted outside
to reduce the level of environmental
pollution in the city.

Assumptions :

[.  The pollution level in the city
in future may reduce after these
factories are shifted outside the
city limit

II. Enough usable land is available

outside the city limit for these
factories

[II. Many of these factories may

shift to some other smaller towns
to remain profitable

(A)
(B)
(©)
(D)

Only II 1s implicit

Only II and III are implicit

Only I and II are implicit

None of these

All the faces of a larger cube are

coloured red and then cut into 27
identical smaller cubes. Find the

PR Bl el e - number of smaller cubes in which
(A) 24 (B) 8 only two faces are coloured :
A) 24 B) 8
(C) 12 (D) 9 ) ®)
©) 12 (D) 9
CIM - 2 [12] Set-A
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56. Tr=fafEd Hj{gm|ﬁmﬁa(?)$w 56. Select the number that can replace
TR 311 Tk aelt Gt i g the question mark (?) in the following
series :
24. 25. 29. 56, ?
24, 25, 29, 56, ?
A) 316
(A) (A) 316
(B) 422 (B) 422
(C) 448 (C) 448
(D) 312 (D) 312
57. @R eR-u4g fou 7w € 5% @ 99 | 57. Four letter-clusters have been given,
ol TR WM E, watE T e B out of which three are alike in some
’ . manner, while one 1s different. Select
I ST STER-HHE I 1 HIfoIT : the odd letter-cluster :
(A) CXIR (A) CXIR
(B) LNJQ (B) LNJQ
(C) EVGT (€) EVGT
(D) HSKP (D) HSKP
58. fafafad s@en ¥ w1 fagd (2) & 58. Select the letter-cluster that can replace
g & fau FER-HHE G| gﬁq . the question mark (?) in the following
Series :
ELV, JHY, ODB, TZE, ?
ELV, JHY, ODB, TZE, ?
(A) XVH
(A) XVH
(B) YWH
(B) YWH
€3 XNl (C) YVH
(D) XWG (D) XWG
CIM - 2 [13] Set-A
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U9 . 59 Ta 60 o forg fader

= & T gEA H g Hefafad T %
Wﬁﬁ?ﬂ{:

s P, O,R, S, T, U,V IR WTH IRy
TFSH IR FF ASEIQ, VIR S *
S AT | W, O F ¢ G TIH W AR P F
MR WM RLIR, PR Vo o9 231 ¥ |
O 4R 7T T & fawdia 7&f 92 § |

59. S U A0 A © ?
(A) U
B) T
(C) P
(D) 394 9§ ®1E Tl
60. fr=fafed § ¥ $H-T1 HYT T &G
g2
(A) SR P U g & faudia s &
(B) R, S TE AR Y AHUE
(C) T,UIRSF 93T
(D) P,RIARUF da a1 8

61. o g was & faudld wasw |
HA-91 fag g ?

Direction for Question Nos. 59 and 60

Read the information given below and then
answer the questions that follow :

Eight friends P, O, R, S, T, U, V and W
are sitting in a circle facing the center.
Q is sitting between V and S. W is third
to the left of O and second to the right
of P. R is sitting between P and V.
Q and T are not sitting opposite to each

other.

59. Who is third to the left of §'?
(A) U
B) T
© r
(D) None of these

60. Which of the following statements is
not correct?
(A) S and P are sitting opposite to
each other
(B) R is third to the right of S
(C) T'1ssitting between U and §
(D) P s sitting between R and U

61. Which symbol will be on the face

opposite to the face with symbol o ?

B B ot 0 B B o 0
v 19 o |90 [0 [0 y (Y] o |V 6 &[5 [0
(A) & (B) B (A) & B) B
(C) 6 (D) ¢ € o D) ¢
CIM-2 Set-A
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U9 . 62 Ta 63 o forg fFdor
qRIEfd o1 e hifew o feu e fashedi
H ¥ fohu 9H At & &l g

62.

MY TH Heel § ., fovmg €,

AR 2TgeRt S 1 ST T © 9 WEG

TEIEE | ST geT ¥, o e wfha

I T ¥ | T G ?

(A) Hifd 96 | w5/ 3 991 39 9"
& I 99 <A

(B) T9+ WEhHal § TWEAM ol adl
IR drR-T% g o1 % SWd

Direction for Question Nos. 62 and 63

Study the situation and choose the course of
action from the options provided :

62. You are the IT expert in a consultancy,
but the work assigned to you pertains
to Human Resources, an area in which
you have limited knowledge. What
will you do?

(A) Do limited job and send it to the
boss
(B) Take help from co-workers and

T St 1 o 27 fF o1 @ after learning Fhe ropes diquse
F1 FuIfed 3 H 9 TF TeEari the work and inform the senior
A TeEa e S that you have taken the help of a
(C) = few S % Tw & o e fellow vsforker to ﬁrysh the job
4 : .3 (C) At the time of assignment, you
919 %l ad1 <11 {6 39 %R 9 Hefd .
: - will inform the boss about not
\:E:a ﬁtﬂ_’g o : having relevant experience
(D) RS =l fefed & ER-IT%ﬁ (D) Inform the senior in writing that
?W FT H ST Dl T TR this work 1s not of any concern
| of you
63. 3 Tsh HIEM & HIfelh © | Tk feo 63. You own a factory. One day, there is
FRE § WAR-TA T i a9 Sl noise in the factory and you are told
AT T o6 S 7Sl W IR hi T B9 that an iron rod has fallen on two
iR T 81 9 &M 90 Te 99a 8 T E workers. They are badly injured and
qdN 37 IR | GH 98 @I T gt & are bleeding. Everybody is in panic.
TAfehd § | STehl SR hTAT ? at should you do’
=feq What should you do?
(A) wRfe w1 Huer vg g (A) Call the police to control the
@F‘IT?H; eq e 3 situation
(B) :-mﬁi ST FH T %?ZIH: 3 (B) Tell the labourers to mind their
B own business
C) WG HY & Al I FeRl IHh _ _
©) T =g fama F e famet e (C) Call the union leader and discuss
the matter with him
=y
(D) =Tt ﬂﬁi‘jf = wer e w (D) Get immediate medical attention
e FE =fen to the injured labourers
CIM - 2 [15] Set-A
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U9 . 64—68 o foru fdor

FHUAl H AMYES AT Heh [AHAAEd

¥ % S S ;

T MY hicTS o THET H gfgsl & fau

STHCIR 1 =99 hid & 34 fAEfared € ¢

(i) 1 o7, 2017 & 3W 25 @9 ¥
=1eT 9 2

(i) =IFd9 80% T HY TS U &

(iii) Toret oft fowa & =ga9 70% o |1 123
9 &l

(iv) 9 == § 70% =iqa fean &

(v) SafEETd WeTehR H =Aa9 60% Biiee
e =

3 IHICAR & ey H, S f=feriad & stara

et oId g4 Il T—

(@) ST (i), w&m 12 H gAaH
60% TTae fohan €, ifer 1231 e H
foqe foran § | SHe AiFen THELT %
faymiia wems =t 9SS S 8

(b)y SWE (v), AfFTd AR F 50%
e fpan 8, ST Ol TSHIH
St = I 5
frefafad s W99 § T& SHIGaR

o1 foeror foar 7 €1 ey swWea feafaat

Td Y% U9 H § T THPR &F SUR W

FaEdl § ¥ UH 6 FAE BT S AR 3H

SRATE I T ! 794 S H fafed s

BT | 3779 Uedish U9 & T8 STHSHRI o STaral

3IR F® T 7F Thd ¢ | F Al 7S 1 ST,

2017 % TR T |
318 YAk U9 H <& T8 YA hl UG T

TSTER 3701 3R Fafga =L |

Direction for Question Nos. 6468

Study the statements carefully and answer

the following questions :

Following are the conditions for selecting a

candidate for MBA in a top college :

The candidate must—

(i) be not more than 25 years of age on
1 August, 2017

(ii) be a 10th pass with minimum 80%
marks

(Zii) be a 12th pass in any discipline with
minimum 70% marks

(iv) have secured minimum 70% in Group
Discussion

(v) have secured minimum 60% in
Personal Interview

In the case of candidate who fulfils all the

conditions except—

(a) At (iii) above, but has secured at least
60% in Class 12th but had Science
in Class 12th. his/her case 1s to be
referred to departmental head of MBA

(b) At (v) above, but has secured at least
50% in Personal Interview, his/her
case is to be referred to admission
committee

In each question below, details of one
candidate are provided. You have to take
one of the following courses of actions
based on the conditions given above and the
information provided in each question and
mark the number of that course of action as
your answer. You are not to assume anything
other than the information provided in each
question. All these cases are given to you as
on 1 August, 2017.

Now read the information provided
in each question and mark your answer
accordingly.

CIM -2

Set-A



aThe Vision

64. =i 1240 | fag™ # 85% 3 10af | 64. Sushant scored 85% 1n 12th in Science
90% BTfge forar | 397 Hfaad QiaehR Stream and 90% in 10th class. He
H 61% 3R gue ==t 7 74% sifeet foa | scored 61% in Personal Interview and
ST ST 24 3T, 1994 W G o1 : 74% in Group Discussion. He was

born on 24th April, 1994 :
(A) WS T TH.ELE, & fgummeses
Syt S R (A) Case i1s to be referred to
departmental head of MBA
(B) SHHIGAR 1 AT ST §
(B) Candidate is to be selected
(C) SHigaR 1 =&l 1 <1 & o
(C) Candidate is not to be selected
(D) 3UcTsd AT &1 Sl AU o 6 (D) Data T
ata provided are inadequate to
fere aoare @ -
take a decision

65. et 3 12¢ff # fase fawa # 67% 2R | 65. Dikshant scored 67% in 12th in
10aT § 92% Bifaa foman | 399 SAfea Science Stream and 92% in 10th
qraerR H 85% IR 99 == § 82% class. He scored 85% in Personal
gIget foharm | et 5 12 faawi, 1995 Interview —and  82% in  Group
N g o : Discussion. He was born on 12th

September, 1995 :
(&) TR S (A) Candidate is to be selected
(B) =<1 fuig o & forg eoaia (B) Data inadequate to take a
decision
() %l T (C) Case is to be referred to admis-
ST . .
sion committee
(D) HHel @ THELE, & faunmeas & (D) Case is to be referred to
T ST ST © departmental head of MBA
CIM -2 [17] Set-A
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66. HYY T 1291 | ket faug ° 75% 3R 66. Rishabh scored 75% in 12th in Arts
105 T 95% =ifaer foran | 39 =fFaTa Stream and 95% in 10th class. He
TR T 55% 3K g ==t § 76% scored 55% in Personal Interview and
gTfet fora | STeht S 19 v, 1993 76% i Group Discussion. He was
1 g7 o : born on 19th November, 1993 :

(A) w.ﬁ AT ¥ R (A) Case 1s to be referred to
e i \51|"|.| %. ' departmental head of MBA

(B) SwieaR 1 91 9§ (B) Candidate is to be selected

(C) SHficar 1 =&l 1 ST (C) Candidate is not to be selected

(D) TS 1 TSFHRH HiHfe F qr fen (D) Caseistobereferred toadmission
e committee

67. UIHET 7 12e H 69% 3R <qa H 87% 67. Roshni scored 69% in 12th and 87%
gifger forar| 394 afaad 9ieieeR o in 10th class. She scored 62% in
62% S:ﬁ'{ -'Htl:ﬁr aa-‘i -j;f 74%, B]fﬂ?{ m | Personal Interview and 74% in GI'Ollp
ST ST 13 fegmR, 1992 1 ga7 o - Discussion. She was born on 13th

’ ' December, 1992 :

(A) 321 ForE < % ferg ST & (A) Data inadequate to take a
(B) W<l sl TefHeH whfdfe o arg wsi decision

ST & (B) Case is to be referred to

dmission committee

C) 3rHiear & EIEik aCIISSIOn |
©) bl (C) Candidate is not to be selected
(D) STHIGHR %l AT S o (D) Candidate is to be selected

68. IR A 12 H anforsy fawa # 65% iR | 68. Shekhar scored 65% in 12th in
10 o 85% =ifaer foram | 39 =afaaTa Commerce Stream and 85% in 10th
TETERR § 65% 3 gyg == § 80% class. He scored 65% in Personal
eifiet fohan | STt 51 29 3T, 1995 Interview and 80% in Group
I —— ’ Discussion. He was born on 29th

& 5 5 ; August, 1995 :

(A) STHIGER bl A AT & (A) Candidate is to be selected

(B) T W THALT, & faurmens & (B) Case 1is to be referred to
qrE ST S @ departmental head of MBA

(C) wMel &1 TSy sfafe & arg dsn (C) Caseistobereferred toadmission
ST e committee

(D) SHHIEaR 1 & FA1 ST @ (D) Candidate 1s not to be selected

CIM -2 [18] Set-A
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69. frafa =1 dfew IR SUesy +UE U 69. Read the situation and choose the
faskedi § 9 w9 wRAE w1 gAE best course of action from the options
IS provided :
39k s TRl o 31aen! o1 feai & Your superior has asked you to give
iR T fawg | & wqgfa 3 & fau a presentation on a topic within two
T § | 1Y ST T Tk ST T8 THI days. You burn the midnight oil and
X Ad 2| e oft, arafasw wfa & manage to finish it. However, during
SR ST ST R e SR actual presentation your superior is
3Yeh] TehR TNIAT © | 3T9eh! Hfafshar , _

N disappointed and rebukes you for
. " the work done. What will be your
(A) T SR Big &N .
< - - . reaction?
(B) =¥ Sl (A) Leave the place immediately
(C) wfafsan T AR sl W : :
R (B) Resign from the job
; o . (C) React and shout at the superior
(D) e 1:rrP|1‘[ R W FU (D) Ask for feedback and assure that
AT e 1 EF H i you will rectify the errors

70. 9 fAuifd efafy & goi st S e 70. You are handling a time-bound project.
Teh GRS H Rl € | GRS SHiET During the project review meeting,
S % SRIA I 1A Sl § T Gelid you find that the project is likely to get
HSEl 9 U WA | HHl hl o 9 delayed due to lack of co-operation of
&9 fedrsH & oA # faere g w the team members. What should you
HYTEHT | 3AT9eh! R A1 AT ? do?

(A) HRUI T STIG hId GY FHATA (A) Ask for extension of time citing
M i AT ST =My reasons

(B) Told Hawl 1 @gd <A &AM (B) Ask for the replacement of team
AT =Me members

(C) A9SAM o HRUI i ﬁﬁ—ﬂ??mﬂ (C) Look into reasons for non-
T =Y cooperation

(D) 3T&AN & ‘:Fx':‘t R AT =] i (D) Warn the team members for their
=dieHl <t =few non-cooperation

CIM -2 [19] Set-A
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71. f&=< (H), sist (E) 3R ¥%a (S) & 71. A result of a survey of 960 persons
gay § 960 Hfaadl o A o a0 1 with respect to their knowledge of
gftomg 9 e T R Hindi (H), English (E) and Sanskrit (S)

is given below :
E
fiz) E
W )* [l
el avhva
o
S
il 9Toredl @l SIHA dlell bl S%hd. A What is the ratio of those who know
ST aTell & 91 ST R ¢ 2 all the three languages to those who do
1 not know Sanskrit?
(A) r .
.
1 )
(B) -% 1
10 =
B) %
(©) L 10
17 =
© 1
> 5
(D) — o S
21 ®) 7
72. & T o H fea s § 2 72. How many triangles are there in the
given figure?
(A) 32
(A) 32
(B) 36
(B) 36
(C) 34
(C) 34
(D) 31
(D) 31
CIM -2 [20] Set-A
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73. TreAfafea & 9 $F 9™ =€ § 2 73. Which one of the following is greatest?
702 3405 22 Zama 2
9’ 578 11 25 8 1
2 : 3
2 3 Ay = (B) >
(A) = B) =
5 3 5 8
7 5 & _ 5
2 = )y — D) —
(C)9 (D) - ()9 (D) T
74. TEd D @&, N9 756896 T € 74. The smallest number, which should
11 1 T[0T YTt fohan S |k, B be added to 756896 so as to obtain a
(A) 1 (B) 2 multiple of 11, will be :
A) 1 B) 2
©) 3 D) 3 (A) (B)
(C) 3 (D) 5
75. T GHM I 595 F H 99 W 15% F1 | 75, When an article is sold for Rs. 595,
TR BT € | 23% 0% 3 & o fer there 1s a loss of 15%. To gain 23%, it
T SIS should be sold for :
(A) 850%. H (A) RS, 850
(B) 921% # (B) Rs. 921
(C) 795% # (C) Rs. 795
(D) 861% H (D) Rs. 861
76. STUHT WEFI A 6 45% T FeTd gC TH 76. Walking at 45% of his usual speed,
ST 1 “f"% 50 ﬁqqz US| ‘wﬁuw a man reaches his destination 1 hour
wa\ REAT T | T e W SRl i 50 minutes late. Find the usual time to
T STl |TH THY 1A i L
reach the destination :
(A) 2%
(A) 2hr
B) 3¢
(B) (B) 3hr
(C) 1% (C) 1%hr
(D) 2% e (D) 2% hr
CIM -2 [21] Set-A
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79.

aThe Vision

132, 156 3R 192 &1 #.99 (W=
WUR.) x & ; 105, 150 3R 210 =
7Y y T R 112, 196 R 210 =
TEY z¥ | To9 TSI A.EY. T ?

(A) x
(B) y
©) :z

(D) Teft IR &

1,000 ®/fwm. arft w=1g A4 iR
700 %./fF70. a9 B i fhemet

2 3 % U | Uk Y o1g o9 E T R
15 foretum UEt o1g a9 8§ fohaet arma
ST ?

(A) 9,800 %.

(B) 8,200 %.

(C) 12,300 %

(D) 12,800 %.

12 g%y, 11 Afgensti 3ik 8 o= § 1020
iehele aiel S © | Yo g%y, Hfeet
AR =1 3 ;3 ;2 F UM H dAlhere
| gEE o6 fee # fwar afencre
AT ?

TL

78.

19;

HCF of 132, 156 and 192 is x, HCF
of 105, 150 and 210 is y, and HCF of
112, 196 and 210 is z. Which is the
greatest HCF ?

(A) x
B) y
©) z
(D) All are equal

An alloy i1s made by mixing metal
A costing Rs. 1,000/kg and metal
B costing Rs. 700/kg in the ratio
2 : 3. What is the cost of 15 kilograms
of this alloy?

(A) Rs. 9,800
(B) Rs. 8,200
(C) Rs. 12,300
(D) Rs. 12,800

1020 chocolates are to be divided
between 12 men, 11 women and 8
children. Each man, woman and child
will get chocolates in the ratio of
3 : 3 : 2. What will be the share of
men?

(A) 324 (A) 324
(B) 432 (B) 432
(C) 540 (C) 540
(D) 450 (D) 450
CIM -2 [22] Set-A
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80. T STIAIHR UTeh ol TaE i 20% EL)| 80. The length of a rectangular park is
feon mar § @R T SR # 10% increased by 20% and its breadth is
o1 fea AT ¥ | SRR U 3 A § decreased by 10%. Find the increase/

fo et decrease in area of the rectangular
T park : )
(A) 12% 7% (A) Increased by 12%
(B) 8% i (B) Decreased by 8%
(C) 8% dfs (C) Increased by 8%
(D) 12% =t (D) Decreased by 12%

81. IfC U STATHR TeRT ahi EaS, T-flg‘[é 81. If the length, breadth and height of
ARFEE S5 4: 3% AU H & SR THH a rectangular box are in the ratio of
SR 12960 ¥ T, £, A SR 5:4:3 and its volume is 12960 cubic
A T T cm, then the length of the rectangular

box will be :
(A) 20 9.4 (B) 25 9.4 (A) 20 cm .
(C) 30 ®.H. (D) 24 &, (C) 30cm (D) 24 cm

82. Tfded 15% W 2 o4 % foiw s = | 82. The difference between simple and
T3 W T iR =rhafeg <A % s ol compound interest on a certain sum of
ST 90 7. ¥ | T 31 FAT - money for 2 years at 15% per annum

is Rs. 90. Find the sum :
() 4300%  (B) 4000% (A) Rs.4500 (B) Rs. 4,000
(C) 3,500°%. (D) 4,200 =. (C) Rs.3,500 (D) Rs. 4,200

83. <@ fwdt a%q =t Fd § 35% i HHAT 83. When the price of an item was reduced
T @ sEa famw § 80% Y gfg g2 1 A by 35%, then its sale was increased by
T TR A 1% 9 7, T 1 A 80%. Ifj[here 1s an increase of x% in

the receipt of the revenue, then the
GULE value of x will be :
(A) 13 (B) 17 (A) 13 (B) 17
©) 19 (D) 15 (C) 19 (D) 15
CIM -2 [23] Set-A
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84. TIUEY A 3R B HHI: 40 X 48 foae § 84. Two pipes 4 and B can fill a tank in
T o R TFd & 3R U 9% Uy ufq 40 and 48 minutes respectively, and
e 5 o @l 3 AT € | U 919 a waste pipe can empty 5 gallons per
S Ty Ee 3 w ¥ 30 e § W minute. All the three pipes working
TFAE I SE R ATy together can fill the tank in 30 minutes.
The capacity of the tank is :
(A) 450 Trem pasity
(A) 450 gallons
(B) 500 &
(B) 500 gallons
(C) 400 e
(C) 400 gallons
(D) 480 T&H
(D) 480 gallons
85. T AfH 15,400%. | 5 7l RO FAT | 85. A person buys 5 tables and 9 chairs for
TEd 81 98 B I 10% Ta HEat i Rs. 15,400. He sells the tables at 10%
20% Y | 99 <1 © | afe et 7Sl 8k profit and chairs at 20% profit. If his
FfE Bl d=t 2,080 %. I Y BT B, total profit on selling all the tables and
a7 FEA 1 AT e 1, chairs is Rs. 2,080, what is the cost
(A) 4.900% price of 7 chairs?
(A) Rs. 4,900
(B) 4,130%.
(B) Rs. 4,130
(C) 4,200%.
(C) Rs. 4,200
(D) 3,990 =. (D) Rs.3.990
86. A a+b+c=83Rab+bc+ca=1%, 8. Ifa+b+c=8andab + bc + ca =
@ I RIS TF be(b + ) +ca(c +a) + 1, then find be(b + ¢) + ca(c + a) +
ab(a + b) + 3abc =? ab(a + b) + 3abc =?
(A) 4 (A) 4
B) 1 (B) 1
C) 2 (€) 2
(D) 8 (D) 8
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87. A (x+y)> +8(x—y)}= 87. If (x+y)>+8(x—y)3=
(3x + Ay)(3x2 + Bxy + C)?) (3x + Ay)(3x? + Bxy + ()?),
2, @ (C—A+B) S oH 2 : then the value of (C'— A4 + B) will be :
(A) 0 (B) 3 (A) O (B) 3
@ 2 (D) 4 ) 2 (D) 4
88. TH ACHIPR &Y o IHYS da 264 o 88. The curved surface area ofacylindrical
TieX & SR 39H Fad 924 =4 HiX pillar is 264 m? and its volume is
€ | 3T% AW 3R SE1E 1 ST A 924 m3. Find the ratio of its diameter
I, : and its height :
(A) 3:7 (B) 7:3 (A) 3:7 (B) 7:3
(C) 6:7 (D) 726 (C) 6:7 (D) 7:6
89. AABCH £A=48°% 13T LB 3R £C | 89. InAABC, L4 = 48°. If the bisectors of
&F fgomstsh [ =R foetd €, O ZBIC &1 99 /B and £ meet at /, then the measure
& of ZBIC will be :
(A) 119° (B) 138° (A) 119° (B) 138°
(C) 114° (D) 102° (C) 114° (D) 102°
90. ef 3k dig" Tt &M FHW: 20 3R 25 90. Hari and Mohan can do a work in
ol § o Thd © | Tk @19 10 feA i % 20 and 25 days respectively. After
FH FE F 9E 32 FdHR B F FHROT doing collectively 10 days of work,
%19 Bre fear 3k vam 3 st & 3 T they leave the work due to illness and
H @ 2 fean | vam i 3hel g & Shyam completes rest of the work in
g HE 1 fohaq fea e ? 3 days. How many days Shyam alone
can take to complete the whole work?
(A) 32 (B) 28 f& (A) 32days (B) 28 days
(C) 29fe (D) 30 fe (C) 29days (D) 30 days
CIM -2 [25] Set-A
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w9 9. 91 Ud 92 & fom fdor

= feu T gl # U U9 ® d Y e
T | SIS U 3R AT 1 AT FHET B

Direction for Question Nos. 91 and 92

Each of the questions given below consists
of a question followed by three statements.
You have to study the question and the

IR T8 99 1 2 T U9 1 S eH & fau statements, and decide which of the
PHA-GI/Q FYT STIVTF /8 | statements is/are necessary to answer the
uestion.
91. eTUig I IAHM Y fohat & ? q
[ utged e arote 1 SH SR A F 91. ;Nhatlﬁ Arnav’s preseAnt age’?
: 1ve years ago, Arnav’s age was
s W I S W g o double that of his son’s age at
I efofe \ﬂ“ﬂw%é%aﬁaﬁqmw it tirhie
11:6% U A 8 II. Present ages of Arnav and his
. 3@ ¥ U= a9 a1g g IR 396 son are in the ratio of 11 : 6
T F I F TG 12 - 7 B IIT.  Five years hence, the ratio of
ST Al-‘nav’s age and his son’s age
st will become 12 : 7
(A) TRl (A) I, 1II and III
(B) fadh I &R 11 (B) Only II and III
(C) = 9 HE (C) Any two of the three
(D) Tk I iR (D) Only I and IIT
92. NI I T T ? 92. What is the speed of the current?
[ feer it ® A9 =51 fg 8 /A I.  Speed of the boat is 8 km/hr in
g still water
I = e d 11 fr/S o I[I. The boat runs at a speed of
NS 11 km/hr downstream
THR 9 el © .
. . III. The difference between the
I fer<a QH TETE TEQ" o e speeds of the boat while
TR i1 1 3 fef 1. /H. & travelling in still water and down-
(A) T H G FE TH stream is 3 km/hr
(B) fadaiRIl (A) Any one of the three
(B) OnlyIand Il
(C) faw I (C) Only I1I
(D) 1R 11 Tk §1y steran fa 111 (D) Either I and II together or only 111
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U9 9. 93 Td 94 o forg fder
TE—ATS 1 ST ThiToL a1 T3 §. 93 IR
94 % I TIIT :

Teh TAELT, shrdery o fafy= &= (4, B,
C, D 3T E ) ¥ fagrasar & ded W o a1
Aeh-317 ( fetit-aw)

93.

BAL ohl et HE&AT = 2100

E ¥ fovugar ura =6 & 9= C °

Direction for Question Nos. 93 and 94

Study the pie-chart and answer Question
Nos. 93 and 94 :

Break-up (degree-wise) of students in

terms of specialisation in different areas
(4, B, C, D and E) in an MBA program

Total number of students = 2100

. 93. The number of students specialising
forrgan wra B & fhar ufaea sifyes & A
) in £ i1s what percent more than that of
. students specialising in C ?
(A) 25.9% (B) 35%
(A) 25.9% (B) 35%
(C) 32% (D) 31.4%
(C) 32% (D) 31.4%
94. AR BT oo STt B i e ¢ 94, The total number of students
IR D H o= o Shi 9 x ST ¢ specialising in 4 and B exceeds the
ST fereifera o &= € total number of students specialising
(A) 65 3R 70 in C'and D by x, which lies between :
. (A) 65 and 70
(B) 55 and 60
(C) 60 3R 65
(C) 60 and 65
(D) 50 ¥R SS (D) 50 and 55
CIM - 2 [27] Set-A
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95, faemera C % @& &t e 39 faeme 95. The number of boys in school C is
% Tt Taenfei =1 feramn wfqera & 2 what percentage of the total number
of students in that school?
(A) 60% (B) 75%
(A) 60% (B) 75%
(C) 62.5% (D) 67.5%
(C) 62.5% (D) 67.5%
96. fommer™ B % wgHl Td foRme™ D F 96. What is the ratio of number of boys
TG Rl i STIU 01 T ? in school B to the number of girls in
(A) 3 -4 (B) 43 school D?
A) 3:4 B) 4:3
(C) 13:11 (D) 12:13 (A) %
(C) 13:11 (D) 12:13
97. A ABC® D ¥R E %59: AB ¥R AC | 97. In A ABC, D and E are the points on
yeeti & ferg 38 wr € 6 DE, BC% sides AB and AC respectively such
IR B 1A AD : DB=3:47%, @ that DE 1s parallel to BC. If AD : DB =
e DECB 3R A ADE & 5%l <hl 3 : 4, then what is the ratio of area of
ST T BT 2 A ADE to that of the trapezium DECB?
(A) 27:64 (B) 9:49 (A) 27:64 (B) 9:49
(C) 9:40 D) 3:7 (€) 9:40 (D) 3:7
98. W Seaemrs 16 9RAl d wwh fafv=a 98. A batsman has a certain average of
AT ¥ T oA € | 178 9 H 9% 102 runs for 16 innings. In the 17th innings,
W A 7, S8 St i 4 2R W% he makes a score of 102 runs, thereby
ST 1 1790 IR o 91 SR SAEd F increasing his average by 4. What is
g2 his average after the 17th innings?
(A) 27 (B) 34 (A) 27 (B) 34
(C) 31 (D) 38 ©) 31 D) 38
CIM -2 [29] Set-A
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9T 9. 99 Td 100 o o Fdor

T T 99 317 100 & 3T 2 & foru F=fafaa

E-=1E TE GRO &1 LT HITAT :

e favafaerem & fafu=r &= # wdl feru o
Faremfefeit &5t g T = 5000

fafy= =i o faaRa faenfea =t @
ax g ol 4.

e A e 56%

. FHI 44%

Ty fesmefamn 65%

St e 72%
a1l 68%
ESIIERILL] 80%

99. Ty fesmefn =+ wefwdl W@ grRed
TaeTHe it aefwal o o9 fohad &1 e
g7
(A) 41 (B) 29

(C) 21 (D) 37
100. s FHT i TSiHAT SSNATTT & AShI
1 gor | fohaet wfeera 9 ¥ 2
(A) 49% (B) 58%
(C) 42% (D) 33.3%

Direction for Question Nos. 99 and 100

Study the following pie-chart and table to

answer Question Nos. 99 and 100 :

Total number of students admitted in a

university in various fields = 5000

Distribution of the number of students

99;

100.

into various fields
Fields No. of Boys
MBA 56%

B. Pharma 44%
Fashion Designing 65%
Hotel Management 72%

Economics 68%

Engineering 80%

What is the difference between number
of girls in Fashion Designing and
number of girls in Hotel Management?

(A) 41 (B) 29
(C) 21 (D) 37
By what percent number of girls in

B. Pharma is less than number of boys
in Engineering?

(A) 49% (B) 58%

(C) 42% (D) 33.3%

CIM -2
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